
Ads by RealOEM
Eres un experto usando catálogos de partes para BMW?
Queremos ofrecerle una carrera con prospección como
representante de servicio al cliente trabajando desde casa. Si
usted esta interesado, pulsar acá y envié su currículo

E88 128i     Reinforcement, body
0

 RealOEM.com Home => Select another car => Vehicle trim => Various body parts

Sponsored
links

No. Description Supplement Qty  From  Up To Part Number Price Notes Photo
01 Spring dome strut, left 1 51617167643 $14.52
01 Spring dome strut, right 1 51617167644 $14.52
02 Diagonal rod, front, left 1 51617135647 $32.52 +core
03 Diagonal rod, front, right 1 51617135648 $32.52 +core
04 V-brace, front subframe, left 1 51717185139 $100.95
04 V-brace, front subframe, right 1 51717185140 $100.95
05 Protective runner 1 51617046337 $3.52
06 PULL ROD LEFT 1 51617239861 $62.63
07 PULL ROD RIGHT 1 51617239862 $62.63
08 ROD 1 51617166358 $72.89
09 Cargo guard plate, left 1 51717187481 $45.67
09 Cargo guard plate, right 1 51717187482 $45.67
10 Vibration damper 1 51617210768
11 C-clip nut, self-locking ST 4.8 -ZNS3 6 07147154447 $0.27
12 ASA-Bolt with circlip M12X1.5X39 1 07146954965 $2.78
13 Hexagon screw with flange M12X1,5X35-10.9 2 07147203503 $1.75
14 Torx bolt M10X16-10.9- 2 07146963730 $1.53
15 Hex bolt with washer M10X25-10.9ZNS3 5 07119905147 $1.07
16 Hex bolt M12X30 2 07119905502 $3.44
17 Flange nut M10-10-ZNS3 2 07119904670 $0.64
18 CAGE NUT 2 31116768715 $1.82
19 Hex bolt with washer M10X25-10.9ZNS3 4 07119905147 $1.07
20 Hex bolt with washer M10X25-10.9ZNS3 1 07119905147 $1.07
21 Hex bolt with washer M10X40 2 07147145742 $2.25
22 Hex bolt with washer M10X25-10.9ZNS3 2 07119905147 $1.07
23 Hex screw with collar M10X33-10.9 9 33326768354 $1.14
24 Blind rivet nut M10 4 07147199279 $1.78
25 Hexagon screw with flange M12X1,5X35-10.9 1 07147203503 $1.75

Notes

+core = plus core charge (possibility of a return of the old part)

Sponsored links

Copyright © RealOEM.com

233 people like this. Sign Up to see what your
friends like.

LikeLike

RealOEM.com   BMW E88 128i Reinforcement, body http://www.realoem.com/bmw/showparts.do?model=UN13&mospid=50...

1 of 1 8/7/2014 12:45 PM


